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Nodes should be of the form (Name, Cost, Parent) i.e. (B, 15, S), (C, 10, S) (i, 

INF, null). Remember to not consider finished neighbors! 



Finished Nodes (in order of when they are finished): 

 

 

 

Initial PQ: (S, 0, null) (A, INF, null) (B, INF, null) (C, INF, null) (D, INF, null) (E, INF, null) 

(I, INF, null) 
Removed: (S, 0, null) 

PQ after considering: 

Removed: 

PQ a/c: 

Removed: 

PQ a/c: 

Removed: 

PQ a/c: 

Removed: 

PQ a/c: 

Removed: 

PQ a/c: 

Removed: 

PQ a/c: 

 
 


